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A. Data

B. Message

C. StackTrace

D. Source

Answer: C
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A. ArrayList al = new ArrayList();
lock (al.SyncRoot)

{

return al;
}
B. ArrayList al = new ArrayList();
lock (al.SyncRoot.GetType())

{

return al;
}
C. ArrayList al = new ArrayList();
Monitor.Enter(al);
Monitor.Exit(al);
return al;
D. ArrayList al = new ArrayList();
ArrayList sync_al = ArrayList.Synchronized(al);
return sync_al;

Answer: D
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A. public class Person :IComparable<string>{

public int CompareTo(string other){

}

B. public class Person :IComparable<string>{

public int CompareTo(object other){

}

C. public class Person :IComparable<string>{

public bool CompareTo(string other){

}

D. public class Person :IComparable<string>{

public bool CompareTo(object other){

}

Answer: A
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A. class MyDictionary :Dictionary<string, string>
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B. class MyDictionary :HashTable
C. class MyDictionary :IDictionary
D. class MyDictionary { ...}
Dictionary<string, string>t =

new Dictionary<string, string>();
MyDictionary dictionary = (MyDictionary)t;

Answer: A
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A. BitVector32 answers = new BitVector32(1);

B. BitVector32 answers = new BitVector32(-1);

C. BitArray answers = new BitArray (1);

D. BitArray answers = new BitArray(-1);

Answer: B
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A. public class Age {
public int Value;
public object CompareTo(object obj) {
if (obj is Age) {
Age _age = (Age) obj;
return Value.CompareTo(obj);

}

throw new ArgumentException("object not an Age");
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}
B. public class Age {

public int Value;
public object CompareTo(int iValue) {
try {
return Value.CompareTo(iValue);
} catch {

throw new ArgumentException ("object not an Age");

}
C. public class Age :IComparable {

public int Value;
public int CompareTo(object obj) {
if (obj is Age) {
Age _age = (Age) obj;
return Value.CompareTo(_age.Value);

}

throw new ArgumentException(“object not an Age");

}
D. public class Age :IComparable {

public int Value;
public int CompareTo(object obj) {
try {
return Value.CompareTo(((Age) obj).Value);
} catch {

return -1;
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}

Answer: C

7. g E LMD

public delegate void FaxDocs(object sender, FaxArgs args);
(RN A FaxDoces g
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1
A. public static event FaxDocs Fax;
B. public static event Fax FaxDocs;
C. public class FaxArgs :EventArgs {
private string coverPagelnfo;
public FaxArgs(string coverinfo) {
this.coverPagelnfo = coverPagelnfo;
}
public string CoverPagelnformation {

get {return this.coverPagelnfo;}

}

D. public class FaxArgs :EventArgs {
private string coverPagelnfo;
public string CoverPagelnformation {

get {return this.coverPagelnfo;}

}

Answer: A

8. W EmME 2 DateTime SN Z B HEIT.

TN AZ AR FHTRASCAS BE?

z

A. public delegate int PowerDeviceOn(bool result,
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DateTime autoPowerOff);
B. public delegate bool PowerDeviceOn(object sender,

EventArgs autoPowerOff);
C. public delegate void PowerDeviceOn(DateTime autoPowerOff);
D. public delegate bool PowerDeviceOn(DateTime autoPowerOff);

Answer: C
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01 public void StartService(string serverName){

02  ServiceController crtl = new

03 ServiceController("FileService");

04 if (crtl.Status == ServiceControllerStatus.Stopped){

05 }

06}

AT ST R —AMIRE, ik FileService {51k, ZBIFER OB E . ZBIFRLAHER serverName Hi AZ %L
fifi s k%545 LJE 3N FileService.
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crtl.ServiceName = serverName;

B. 7£ 03 4741 04 17z [alf AL MAISAT

crtl.MachineName = serverName;

C. 7 03 47/ 04 frzlaldE ALl FA5AT

crtl.Site.Name = serverName;

D. 7& 04 4TH1 05 472 li4f A LA M AT

crtl.Continue();

E. 7£ 04 4741 05 172 a4l A L MARSAT

crtl. Start();

F. 7& 04 171 05 472l ALL MCHAT

crtl.ExecuteCommand(0);
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Answer: BE
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A. private void PerformCalculation() {

}
private void DoWork(){

CalculationValues myValues = new CalculationValues();
Thread newThread = new Thread(

new ThreadStart(PerformCalculation));
newThread.Start(myValues);

}

B. private void PerformCalculation() {

}

private void DoWork(){
CalculationValues myValues = new CalculationValues();
ThreadStart delStart = new
ThreadStart(PerformCalculation);
Thread newThread = new Thread(delStart);
if (newThread.IsAlive) {

newThread.Start(myValues);

}
}

C. private void PerformCalculation (CalculationValues values) {
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}

private void DoWork(){
CalculationValues myValues = new CalculationValues();
Application.DoEvents();
PerformCalculation(myValues);
Application.DoEvents();

}

D. private void PerformCalculation(object values) {

}

private void DoWork(){
CalculationValues myValues = new CalculationValues();
Thread newThread = new Thread(
new ParameterizedThreadStart(PerformCalculation));
newThread.Start(myValues);

}

Answer: D
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